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Resist 60 Comp A HolX: 7/12

1. =40 st 32

— O
L. 22 |dlld 39
aOMN &M
NE/HE2Y 2 HEE ENE LE
Ol Et= LC50 €& S| > 124700 mg/ms3 |4 Al2t
o=Zd 222 HE olgl |LD50 &1 £ 13 g/kg -
=
LD50 &+ > 6600 mg/kg -
2-butoxyethanol LD50 &+ JiLl ol - [1414 ma/kg -
=3, &=A
LD50 &+ F - =31, 2 (1300 mg/kg -
A
-T2 o= LD50 &1 =] 12800 ma/kg -
LD50 &2+ 7 5000 mg/kg -
3Aald LC50 E& &I > 20 mg/I 4 A2t
LD50 2+ > 4300 mg/kg -
TOLo &1 £ 4300 mg/kg -
N2 /2A4
NE/E2H Z MES AN d |8 =2t
olE= = -BEEZ AN=24 | E - 100 -
=& microliters
Ie - efst A= =) - 400 -
milligrams
o=zZd 222 HE ol |& - &8 =2 1=P)]] - 24 A2+ 500 |-
= mg
o2 - efst 1= =] - 500 mg -
2-butoxyethanol T -BSEZO AN=24 | E - 24 Al2- 100 |-
= mg
o2 - efst 1= =] - 500 mg -
-LIUS T -BS3Zo =24 | E - 24 A2 100 |-
=& milligrams
o2 - efst 1= 1=P)]] - 500 -
milligrams
ole A2IAHOoIE = - 28t A= Iss=s - |- - -
=0l EI| 4
A &3
3Aaldl = - &8t A= =] - 87 -
milligrams
o2 - st 1= = - 8 Al2+ 60 -
microliters
nY=Ips
N7
CMR‘I:II-%I-/\-I EO -?|_=|/\-| /\HAIE/\-I) - _TJ_Q.L.EECI _T)_AI —ét%FEC'XI ol E‘:alx-l @II:OI I_'EE_ j _7”_:_
NE/ 42 AlH T} =5
Ol Et= CAS: 64-17-5 gerd - 28 1A
2-2EEANES CAS: 111-76-2 gy - 222
HO|RAH
22/ a2tst HE0ILE FIE=2 28 HE 98
UM
Z2E2/2% a2tst HEOILE FIE=2 28 HE 98
22
NS/ 8249 OSHA |IARC NTP ACGIH
Tz EH 222 HE ol |- - - A4
=
2—butoxyethanol - 3 - A3
A Al = A

£ HELA 129.11.2023




Resist 60 Comp A HolX: 8/12

1. =40 st 32

I}E H=2

4L BAO.

0|84
22/Q9% D A2t YE0IL RIES
EXN EI-IXI-] =M 1= |_.E =

ne
©
pal
T
3
0lo

NE/EE2Z =3 =g A2 X I
m=2Zd 222 HE olg2 2533 - O &2
SHE LIZE (AK), 2l0IE OFZ0} =283 - SSIA =
253 OHF &2
2-L2 s 253 - O &2
Olg AlelAOoIE 253 - SSIA =
Aalel 253 - SEIA X2
EXN ORI EAH (B2 L =
NI
=0 OF1A
NS/ 8249 Z
SHE LIZE (A7), 2t0IE OtZ0t SOl Ry - 2F 1
Jalel S0 KAl - 221
DhM XISQF ZA
DY =M
al ok Al2tEH HEHOILE FIE2 LAR H S
grotd 245 HEOILE FIES AN HE S
HOIH A5 HEHOILE FIE2 AR H SIS
MASH Al2tEH HEHOILE FIE2 LAR H SIS
E459 £XH S
o8 =4 =813
NS/829 A7 (mo/ |ZU (mg/ [EL OIA)|EY (BI)|EY (HX
ka) kg) (ppm) (mg/l) 2 OIAE)
(ma/l)
Resist 60 Comp A 21773.0 93147.7 N/A 45.2 N/A
OE= 7000 N/A N/A 124.7 N/A
D=z Eid 222 HE olgl2 6600 13000 N/A N/A N/A
2-SEEANES 1200 N/A N/A 3 N/A
-LRUs 5000 12800 N/A N/A N/A
OlE A2|HO0IE N/A N/A N/A 11 N/A
daldl 4300 1100 N/A 20 N/A
12. &30 0|X|l= 9%
Ol MEl=H
=2 222 M ME) Sdlold I8 o=z HEH0| XSS,
HE/H=2H 21 MEE s
SHIE LIZEH (AK), 20l |24 EC50 <10 mg/I =HE 48 Al 2t
E Ot= 0t
=4 IC50 <10 mg/l X2(E%E) 72 A2t
=4 LC50 <10 mg/l =17 96 Al2t
2—-butoxyethanol =4 EC50 1000 mg/I &= =W = - Daphnia magna 48 Al 2t
=4 LC50 1000 mg/I alf == 22t5 - Chaetogammarus 48 A2t
marinus — 04 &l
2-LZ2uz =4 EC50 10100 mg/l &% =MW = - Daphnia magna 48 Al 2t
=4 LC5H0 4200 mg/l &%= £ 17| - Rasbora 96 AlZ2t
heteromorpha
3aldl =4 LC50 8500 pg/l ol == 222 - Palaemonetes pugio |48 Al2t
=24 LC50 13400 pg/l & == 27| - Pimephales 96 Al2t
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Resist 60 Comp A

molx: 9/12

12. &30 0|X|l= 9%
| | promelas | ’
L. A2H U 2514
NE/42H =T g2 22 M2 2ol4
SHE LIZEF (8R), 20l |- - HA %23
E Ot=2 0t
SLT - - s
Ch. ME =54
HE/H=2H LogPow BCF SHE ME 554
st= -0.35 - E=
T=Zd 222 HE old | <1 - <3
=
SHE LIZE (8R), 20l |- 10 — 2500 ==
E otz 0t
2—butoxyethanol 0.81 - C=
-z 0.05 - <3
OlE Al2IAOIE 3.18 - <3
alel 12 8.1 -259 <3
ch. EY 0S4
E%/2 261 H 2= (Koc) iz s

0. JIEl sofl & D2 GS0ILE FIE2 2HE B SiS

13. HIJIAl =2 ALE

Jh HIDI%Y D Jisst Holg A2 HIstHL ZlAaz & 24, 0| 22 Y, 2422 AL O
ANEo SFE2SHN HIIZ2 Ml #AE2 Edl0F st MEE 2Itsst HE0|
LA E2 MS2 6 HOIZ2 AFEANE Sote] M2l 21, HIIE2 Y
Ao DE 2 R 22 QR ASE Ete= 22 0Lt HelZ X Z=2
AElZ2 EUZ ol+=2 HIIZD M= otE. AISE ZE3S)|e HEE oot &
A2 T=0HES2 MEE0| JIsolAl €2 202 DA Kok &.

LE. HIIIAI =2 AL DHE Y 0 E)|s otME gHHO 2 HIIZIO0F &, NMREHL AKX E2 el
INE FHIE R FLYINERE. U EI| £z 2040l HE &F20| €0t US
2= AS. HS HNHEZLRE SIIJF ZJ1 LHol DeIstd = EYH SIIE MY
g+ AB. WFRE EXNS| MESHA LUAZ2 B2 AIEE E2IIE NEAHU, EEGH
HU O2tole &Y 6tA & 2. SEE S20| 24T HL K ES, =2, ti=
2 5l 8=cts AS WE .

O A 1L =
14, 250 2st &2
UN IMDG IATA

Il A HS UN1263 UN1263 UN1263

L. fd &8 84X |HOE HOIE HOE

=

Ct. 230M2 |18 |3 3 3

q S22 I‘ I‘

ch. 8l|1s2 [l [l [l

0. &Z [olls e MU S MRS

EHE YEYX 2 29.11.2023
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molx:

Resist 60 Comp A

H
0
0.

ol 2

410

14, 2
ES %1
IMDG

= F-E, S-E

© 232 AMEE A

ADR/RID

IMO 8 &0l E €3 2

SHAAIL.

=
[=]

ot 2

ADR/RID, IMDG/IMO, ICAO/IATARt 2L+ A0l 2H

15. 88 A&

o

o"

AP EHY MI17x
(M= 82 =2X)

A

2

GIE olel

=
=
=

o=
g a0l

IS A 8 22|A OIXIo =)
=

Zgd 22l
2-butoxyethanol

AHOPMEHEH H118X

(

Mz 29 5101

=z
3

2

ol
™
oll

Ll

H

4

<

i

ol

w0l %0
il

3
KR
o
T N Ko
Hpjol
K g K
S —
SD KM S
<R Ok

o

P2 R DD B

[=13=]

L.
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Resist 60 Comp A HOoIxl: 11/12

PEEEYEE]

=201 SMEX &

0.
0o

_,_

27X (SRN2E

H
FI n

§O:I

st & 22lY M19x DE 420 SMEUX %S
8Ol HaH(Et= &tstE2
S=2HIIY N25=X)
SIHY 20X (RES2E) ==
SIEY 27X (HIEE2R) Q= 420 SHUX ¢3.
slsts&22|Y H39= DE 420l SHEHX £3.
(MZDTHI2E)
SEUAMIIESS=SE D OS2 4201 SMHIO US: Xylene, Hydrogen chloride
Ch. g Sot@™ el ofst S H4z0lgtd A
A ES: 2. M8 SSH 2L A
A X 200 L
SEEEA
TAl "_JA}°*' 12
ch. HoI=22lgol 28 7AH RS0 GAIE B AN 2 He2, 2J12 HIIGHA2.

O J1E =2 & =280 2|8t 72X
27K =
st 2| 2N A =E NAE LI &I SEEE

HEH RIASH( Bt ASSEF O
STHEIOf UK &S,

AFESL0IF IO 28t 2H 25 SO (PIC
STHEIOf UK &S,

NSH QINQASN U I 0 (45 UNECE 225 A O|H A
SHEO UX 2.

16. 21 S8 & JAE

SIIPTEDEST L - B3 220 =4 ¥F S22
- 0|2822 52 ECOTOX
Lt S =&HELT 1 25.01.2022
HE LI 1 29.11.2023
Ch HE : 1.04
o144l : 29.11.2023
2. JlEt
7OIE 29 HIE F2E LELIC
o0} B & D ATE = B8=4 =3
BCF = 42 =5 %
GHS = Bt5t2 Xl 25 o HXI0l 28 HIHZSAIAH

IATA = =X &5 25 83
IBC = S&E &7
IMDG = S I A <&
LogPow = 2/SE2 ZtiAH+2 =13t
MARPOL = 19734 HEBIOZL2EQ QHYUIXE ?
("Marpol" = L2 H=Z)

N/A=XZ &S

o 9 19781 oI Al

o
I
=
EQJ
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Resist 60 Comp A

molx: 12/12

16. 11 S8 & IAE

SGG = =2cl A8
UN ==Xl o3&
X O
2 HOIEHAIEN JI e 2= 494 HAE 2 Jotun| A& HE=S Soll S

DEW HE MS2 Jotun SHH2 FHET 0120 THE SEC=Z AI8E 3

ST otk &2, ME 11 XAl SE0il CHol A 2t ES8HLICE
TEE = JUSULD 2 AIEE AIEW22A0l MZ22 B2=2

ABT= &a THelol 2o SE HZA 0l tiol 0l AIS2

oG AI 2.

2 HAZ USUA o™ 2RI Jyes 22 OHHE(UK)0lI 4

S& AUt

HE0 SAls 0He &2
o NEHE=

Z JI0IEE QE W &4

EE HE LA
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